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To mark answer use Black Ballpoint pen only.
Candidates must read all the instructions carefully before writing the answers.
You are to mark your answer on Answer-Sheet only. After the examination is over,
hand over the original Answer-Sheet to the Invigilator.

IMPORTANT INSTRUCTIONS

Answer all questions. All questions carry equal marks.

The Candidate should indicate the correct Roll Num
its Series on the Answer-Sheet, otherwise the Answer-

Candidate will be solely responsible for it.
3. This Test Booklet contains 150 questions. Each question has four (4) options which are given
You are required to darken the circle

below the questions. Only one option is correct out of four.
corresponding to the alternative which you consider to be the correct or most appropriate answer

in the Answer-Sheet by Black Ballpoint Pen.
4. Do not write anything on the cover page of the Test Booklet except Roll Number. Except this, do |
Booklet. If you need a working sheet to do your rough |

not write anything else inside the Test
tor for it and mention required information on it.

s ~eca.

e L DR

ber, Subject, Test Booklet Code and
Sheet will not be evaluated and the |

esrs

work, please ask the Invigila
5. If you happen to find that the Booklet issued to you does not have all the pages properly
printed or it has any other deficiency, then you need to approach the Invigilator to get '
another Booklet of same Series and Code.
6. Penalty for wrong answers : l
S MARKED BY A CANDIDATE IN THE '

THERE WILL BE PENALTY FOR WRONG ANSWER

s i ANSWER-SHEET.

B (i) There are four alternatives for the answer to every qu
wrong answer has been given by the candidate, one
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer cven if one
of the given answers happens to be correct and there will be same penalty as above to that

~ question.
(iii) If a question is left blank, i.e., no answer is given
b alr t question.

estion. For each question for which a
-third of the marks assigned to that

by the candidate, there will be no penalty
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PART-I : COMPULSORY / W1 : 3tfard
GENERAL STUDIES / UTHTHI 318994

1. Which of the following discases cannot
be cured by antibiotics?

(a) Tuberculosis
() Tetanus
(9, Measles
(d) Cholera

2. Which of the following pairs is not
correctly matched?

(&) Computer : Charles Babbage
(b) Radio : Karl Benz

(c) Barometer : E. Torricelli

(d) Dynamo : Michael Faraday

3. The communication satellites are

. invariably
(a) revolving at their own speed
le} geochhonar& 1 5} oy

which substance among the

g, conductivity increases with
ature?

1. Prafefiaa # @ fra 0 & ufrdfes g fem
aft fn s w7

(a) CEl
(b) &M
(c) @HU

(d) #n

2. Prfaflaa gt # 4 #7-m wh gafea =ff 37
(8) FER A A
) e : wd o=
(c) Wrflr o R
(d) TEFT o TEEd wR
3. H§9R IR wea
(@) o 9T | & WO FA @A 2
(b) R 2
© W-erw?
(d) 19 UY TH =T Eerd @A &
4. fafafga vat & ¥ fFadh aesa auws $
Y Tad R7
(a) dfa
(b) Wi
(c) =t
(d) @@

5. 2J/3 cm Y& I HAYYS H1 &A% &M
(@ 12V3 cm?

(b) 18V2 cm?
(c) 18 cm?

(d) 183 cm?
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3x 1 .9
6. If 2x+%=3. then the value of ..‘ﬁgxq»%-.’!ﬁ.ﬁx +x3+ F1 113 9
> +—13+2 is 3
; @ 3
) =
: v
19
e © 2
% 4 :
8 7
(d) 8
4
(d) 8
7. aft Rt @ 2x? 4 pxed=0 w5
7. If one of the roots of the quadratic Ly at,ﬂmm‘lﬂ?
equation 2x2+px+4=0 is 2, then the 2
other root is (a) =
(a) -2 (b) -1
® -1 A (€ *1
@ +1 R @ +2
@ +2 8. w 2018 & fFE T8 # ¥ 3w
8. In which State was the mm@ry ;&erciae sy !:ﬂl?
‘Vijay Prahar’ held in May 2018? (a) WERTE
‘b) Guja# L b ' .: (ﬂ m ! st :
(o) Rajasthe i B i1 R B
. SRR X “ Y b % EITRTR N 1 ) Wm
¢ - (d) Maﬁlyal’r:desﬁ e ik - - -
. TgHEd W, % a1
9. Who has won the Women Singles Title of % mﬁ:g;;l:? = v
~ Badminton in Commonwealth Games, )
- 20187 (@) WTE YEES
i (b) o dfo fRmy
(c) %o Frendr
(@) Prew
, : 10. fAw ¥u @A gEEw 7
Press Freedom Index, A % - , 2018 #
(@) 135af
(b) 136af
(c) 138al
R
T N
e §
o/
L ‘
/1 e | k" v
R q};— J
V sl
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11. In which of the following texts, it is | 11, fr=ffias # & fw 1w i %o 7 2 fF 3 5
stated that those who could not speak TEFa M Y@ T A a4 TR e
Sanskrit language correctly were called LRI
‘Mlecchas™?

(@)  Shvetashvatara Upanishad (a) e [
(b) Gopatha Brahmana (b) 7w g
(©) Brihadaranyaka Upanishad (c) FEamvTH I9fIg
(d) Shatapatha Brahmana (d) ¥y FTE
12. Match List-1 with List-Il and select the | 4, -1 A gehi11 @ gafera v @ gfedt
~ correct answer using the codes given | PR :
below the Liss et
LR ) B it j oo 0o fas - I
o330 =T [Tt )
(King) (Spouse). : = Dimmrah
A. Chandragupta I 1. Dutta Devi | A. <= g | —
B. Samudragupta 2. Kuberanaga B. sz ‘2' f“’“’“
C. Chandragupta II 3. Kumara Devi C. sz fifm 3. T
D. Kumaragupta I 4. Ananta Devi D. FAmqH wum 4 IF=

e & v i '

T N

~ Codes :
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13. With reference to the book Arthashastra,

which of the following statements is/are
correct?

1. It is the oldest masterpiece on
Indian State Policy.

2. There is no description of Mauryan
empire and administration in this
book.

Select the correct answer using the
codes given below.

Codes :

(@ 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

14. Who among the following addressed |
Delhi as one of the greatest cities in the |

world? &

() Ibn Batuta &
(b) eruni gy &
W ‘g : H if}' & B A

) W eGE

15. Who is known as the Father of India’s
Local Self-Government?

(@) Lord Lytton
- (b) Lord Ripon

" the

President of India?
) ‘

&

GET IT ON
Google Play

% wod A Py
13. wﬂﬁ-'m"/ ::: af B/%7

13 fog o o2 1 S A 3 A

e
(a) Facl 1

(b) a2

(c) 1 3l 2 3
@ Fd@1dAH2

14. 37 3 frm R #1 faw & Iopeam wd d 3
wF ¥ &9 § qa17

(a) ¥= 9qqT
o o
(o) Wi !

“ by &

15. ¥Ra & T WEW WA F 9

T 87

(a) @ie forem

(b) @iE fom

(c) S FuA

(d) <7 sedsh

YRd & Tgufe W owehmEm wen ¥ R

FA-8-F e R 4 o g smaws ¥

@ 7=

(b) 14 f&=

() 21f=

(d 30fm

16.

R
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17. Who administers the oath of office and

secrecy to the Governor of a State in
India?

(@) The President of India
(b) The Vice President of India

(c) The Chief Justice of the High Court
of the State

(d) The Speaker of the Legislative
Assembly of the State

18. Which Part of our

envisages a three-tier
Panchayati Raj?

(@) Part IX
(b) Part X
(c) Part XI
(d) Part XII

Constitution
system of

19. Which of the following States has no
oil refinery?

@
(b) Kerala
(c) Chhattisgarh h
_(d) Wcst Bengal

Gujarat #p

20 Which of the following rivers does not
: flow in Australia?

(a) Hunter River
(b) Flinders River

w(c)?'f'%gf’ ver

- River

of the following States recorded
in its population in 2011

17. wia § R o1 % teaeE # we e
mofraen ) 9y B e 27

(a) v 1 Tgufe

(b) wma %1 Iqergafa

(c) T % I AraTer 1 qed A
(d) T & fFum aw w1 Ay

18. 7R wfave % feg wm @ daEd 19 F AA
vt ) saeen #1 faae frm e

(a) wrmIX
(b) wm X
(c) ¥ XI

(d) s XII

19. fr=fifaa & @ frm T=a & 0 Muaen &
??

@) W
(b) Fw
© wEE
(d) ufim s
0. Frefafas & ¥ FR-@ 7 i §
&l 77
(a) T =R
(b) fRa=d fat
() = fr
(@) fiead fa
21. f=fafea & & fra T=a § 2011 6 s7EM
3 S 1 T iR g &7 :
(a)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

e

23. Which of the following is not a biome?
(a) Desert
(b) Grassland
(c) Ecosystem 3 ) $

(d) Tundra
L3}

24. Dudhwa National Park is situated in

l.

P

~which of the following Statis?
Pt S
BT
to the Fourth Round of
‘ u; Healﬁl Survey, thc
'R (Total Fertility Rate—
% By
A8

GET IT ON
Google Play
|

— T e ——
(|
|
' T frafafaa § 3 3y
22. Which of the following is the most 2. Wres e # gatfires e 27 "
‘ effective measure of population control Lkl
| according to Malthus?
(a) %
(a) War
(b) 3r9al
(b) Disaster 5
() sF-FrR
(c) Birth control
_ . (d) mmﬁlﬁiﬂi‘"
(d) Social evils

24, g Yeew o PR 3 3 e

% VI
A B B | ==

9] N I

.‘—'\

. YA 9RER w@rer gagm % wgd % ¢

HFER, FAHH F FHo Who o (Fa T
R — == wfa Afeen) 2

)0

(b) 32

s

(d) 45

.
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26. Which of the following census years is

known as the Year of Great Divide’ in
India?

(@) 1911
(b) 1921
() 1951
(d) 1991

27. SRI method is related to
(a) wheat
(b) cotton
(c) mustard
(d) paddy

28. Which of the following pairs is not |

correctly matched?

Crop Insect-pest
(@) Groundnut Pod'borer
(b) Gram : Pod borer
(c) Paddy . Banka R

(d) Maize 33‘ e Stem"'(borer

29. The rotation intensity of Maize-Potato-
Mung bean is
(a) 100%

() 200%
(0 250%

26. frefafan s aaf & A4 R wra @
‘wrifare #1 ad’ F wq § s @ 27

(a) 1911
(b) 1921
(c) 1951
(d) 1991

27. THo ¥Ro 3o fafy wwafim 2
() A

(b) FuE &
(c) & H
(@ ¥Ad

28. Befa & & r-a g wd gt T 37

A €
(@) qoehl el 3o
(b) = : el Be®
() ¥ D S
@ W I

29. HET-3Te-41 % FHA-56 ) FEAAT
(@) 100%
(b) 200%
(c) 250%

(d) 300%

30. fr=foifiad 3 & #9-w 3w wd gafera 7@ 27
wHA

(a) Hedt

3

T
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’ PART-II : SCIENCE / wr-1I : 7
( PHYSICS / witfass T )

ari A A vy,

31. Two long current-carrying wires are kept | 31. Aw PN ;:-q_qﬂﬁ oA fem # e (]
parallel at a distance 2r between them qfET (ﬂ or &, @ ani *
and if currents / and 2/ respectively are JRETEl ant % mm Qﬂ’ Bl WF } e
flowing in these in same direction, the qefarg T IR f
res;ultant magnetic field B at the mid- a1 PO
point between two wires is (a) 31 ;——1‘% (b) onr

Mo Ho
37— o
‘9'/ 2nr ®) 2I21|:r Ko g I Fo
I___
(c) A 2nr
Ho Ho
c) I— Leslfl
(© 4nr @ I21tr
o e s & R, Pt )
32. Arrange in decreasing order of power | 3 % el 7 A

~ consumption for same light output :

1. Tubelight
/5
Filament, bulb

Pt

(d)seq. =37 1752

33. TF 220 V S 4RI Eq F TF 075 H F
% § Siig ™ ) 3R @a $iosmf 50 He
&, A sl wiithera T @7 '

(a) 220 w |

b T
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34. Which one of the following is not
correctly matched?

@) —v-xg__aig' — Faraday’s law of
*. 9G¥ clectromagnetic

represents induction

(b) Idea of — Maxwell
displace
current  was
given by

(c) Lenz’s law is a — Energy
consequence
of the law of
conservation
of

(d) V.B is never — Zero

35. Which one of the following particles does
not obey the Pauli’s exclusion principle?
(a) Electrons
(b) Neutrons
{¢) Photons
(d) Protons

36. If we take E=§1mov2 and p=mgy, then

the phase velocity of the corresponding
wave packet is

@ 2 a Y
2 2
e @ =
v C

37. The maximum rectification efficiency of
a half-wave rectifier is
(a) 100% (b) 91%
(c) 81:2% id) 40:6%

38. A beam of light of frequency v and of
intensity 10 lumen falls on a metal

~ surface of work function ¢. In which of

the following conditions, there shall be
no emission of electrons?

¢

-~ (@) For v>—
(a) or ~

g 9
F o
Aoy orv<h

¢
(c) ’,:,l?or VZZ

%

%
ok 2
<
b8

& 109
L

GET IT ON
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W .
5%
34, fy=fafaa § 4 #-w @ gafem =4 27

- = aé —’F’T% % ﬁm\"

(a)VxE:——aT £ o
wefifa e B fom

(b) framm v @1 — BFgad
foram & o

(c) o= P aform 2 — =i
e fam 1

(A v.B#fiTdda — T
35, frafafas #oit § ¥ FA-T @ TR F

ety fagra 1 9 7t Fan?
(@) FHEgH
(b) =IgH
(c) M
(d Wi
36. I W E=—21—m0u2 M p=mgu &, @
Tl q01 TR 1 Hell 97 2
(a) g | (b) v
2 2
o @ 3
v
37. & Ag-au femsr 1 ftrran oo gman
(&) ?
(@ 100% (b) 91%
() 812% (d) 406%

38. v A 3R 10 TR digd F1 T THF-GH
¢ FEAGEH I TH UIg F WaR W v 2
Frafafan & @ frm fufa & o8 o sl
Ieaford 78 grm?

o
@ v>iufm
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.’.s-\b q-
's“’u/ /\/° ey
q

4 s 206
39. 2:9’8’1‘h decays finally to 2ggl”b. How | 39. QSOTh fawfea €t ¥ 3 g2FP

many o and B particles are emitted in AT 81§ WHA H fohe o a1 B % Ieafira
this process? 7
(a) a=28 p=8 (a) =28 B=8

(b) a=14, =14 (b) a=14, =14

©) a=7 B=6 () a=7 B=6
(d) a=6p=7 (d) a=6,B=7

40. The mass of a photon of frequency v is

40. TF v 3R ¥ Fre F1 FAAA Bl 8

(@ O (a) O

hv
b = | (B

v hv
(C) 2c2 (C) -2c—2

hv hv
e 2 / @

‘f an atom (or ioxi) in its | 41, fEe oA (S slﬁ’ﬂ) % Fream afawn §

- is 544 eV. It should be 1 —-54-4eV B T8 AT
i (a) TEGEH

(b) =Rfem

(c) He'

(d) Li++

42, f=fafad 3 @ F9-1 v a9 gafea 7@ 27
(@) dio WodfieEIe — fewsry

(b) S esre — aesh () T
# I

(c) Zf_rt — vads

(d) PREEE — WehI-did

?L Y _wo(.. ANEN

y 2

v

B\
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43. An X-ray tube is operated at 20000 V;

which of the following statements is
correct?

1. 02A wavelength will be absent,
2. 0'5 A wavelength will be absent,
(@& 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

44. Consider the following Assertion (A) and

3 B }"2 ]
© 2oV o

Reason (R) :
Assertion (A) :

NOR and NAND gates are universal
gates.

Reason (R) :

Digital circuits can be made by
repetitive use of these.

Which one of the following statements is
correct?

(3~ Both A and R are true and R is the
explanation of A.

(b) Both A and R are true but R is not
the correct explanation of A.

(c) A is true but R is false.
(d) A is false but R is true.

If the wave function of y (7, t) of a particle

is Aexpfi (k-7-t)}, then the value of
2
2m
is

@ %w(ﬁ f)

hk?

= (Tt
(c) > y(r, 1)

"2k

43.

45.

uww X-fem afes 20000 v w wE Fd R
farrferfian worl 4 A - /2 ok B/R?

1. 02 A aodef aufism 5# w2
2. 05 A mmeed qufesra # 2m)
(a) Fae 1

(b) Faa 2

() 1 322

(d a@13mad2

. Preaferfiaa ®am (A) @ Fmm (R) 7 famm

EQIE L
FU (A) :
At (NOR) @91 ¥8 (NAND) Z# =195
(gfrada) g ¥
FHA (R) :
wh grgfn 8 fefea afmg =m =0
Fd 2
Fefafaa 3 & F9-m 7 5é@ 27

(@) 3 A @ R W& ® R R, A =
T R

(b) 3 A T R §& & THq R, A =1 ®&
T TE R

(c) A¥H ? 9 R 74 B
(d) ATEd R W R T R

IR FR oFm F R T s oy o),
Aexpli (K-7-ot)) §, @
h2 RN
pr e (L
F1 qF '

(a) ﬁwﬁ 0)

<5l
2m



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

0'{

46. If 7=xi + yj+ 2K, then divF is
fa) 3 b) 2

()80 (d o

47. Two water drops of same radii are falling
in air with terminal velocity v. If both
drops are collapsed into a big drop, the
terminal velocity of new drop shall be

@ 213, (b) 2273,

(c) éu' d 2v

48. If Lg is the rest volume of a cube, then

volume viewed from a reference frame
moving with uniform velocity v in a
direction parallel to an edge of the cube

is #
AR ! o
E )t , ‘)
w 31-2)

m cross-section
a depression § at
epression at a
ed end is

GET IT ON
Google Play

R

46. IR 7= xi + yj+ 2k ¥, A divy F AA B

@) 3 (b) 2

(© 1 (d) 0

47. T frem A A s@-42 g § doem A R
i@ & aft A @ R fewm o ad 4
¥R, A 7§ a1 AEra 2 Fm

(@) 23, b 2?3y

© v

(d) 2v

48. 3R wF T %1 fom s LY A, @ 7 A

v T F TF AR F TR Te 9 g2y
%9 @ @A W IGH A" B

() L3

i3 81

2\3
QA By s e
i °( cQ]

o i 14

49. THH AT FZ Td | T & TF Focia
% it fR W sl (gom) 6 31 fRr R 2
1/2 50 W 3ty dvft

Rl 3
L) 5)
() 28 3 (d) 16 8
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50. Consider the following Assertion (A) and | §0. swiferfiaa Fom (A) au1 Frm (R) T fEm

Reason (R) : #ifr
Ass::l:tlon (Al) : R HA (A) :
¢ areal velocity remains constant fapeh |
when a particle moves in the &3 we ¥ uvra # fa g
influence of a central force. avfta am feu e B
Reason (R) : F (R)
The angular momentum of a A4 nfqnm S
particle moving under central force R EFI * o
is conserved. Fofa Fam arfia @an 2
Select .the correct answer using the Ei=] m %2 #) gaEra ¥ g9é I gﬁm
codes given below. pre £
R, A AT
fa’ Both A and R are true and R is an (@) 3 g'diﬂ R¥ ¢ .
explanation of A. : i
(b) Both A and R are true but R is not (b) 2w A 7w R&EEFGR, AR "
the explanation of A. T e
(€) A is true but R is false. () A ™2 fFg R TeE R
(d) A is false but R is true. (d) A7 g R 53 21

51. Which one of the following is not the 51. ﬁqﬁﬂ P-a1 v & wwt A, Baw © ¥

condition for three vectors A, Band C to T € aa 3 21 i 3d & 27
- coplanar? i 37 i

pers B3 (a) A(BxC)=0
(}), A-(BXC)=OV 1 | B

o S T (b) Ax(BxC)=0
(b) Ax(BxC)=0

© B 0.0 (c) n12+n2§+n35=0
c) m n» St
Axs Bx ¥ Cx i
e d) |Ay By cy|=0 5
d) |Ay By gy=0 Azl B o E
Az Bz Cz

52. 2 mm B % A ¥ w gore § iR
q@ (g9 fyw), AR g8-T4E 003 N/m
i S ; B

52. The excess pressure in a soap bubble 91‘
- 2 mm radius, if surface tension is
0:03 N/m, is

(@) 30N/m?

(b) 40N/m'{

(©) 60N/m?

d) 120N /m?
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53. The second’s hand of a watch is of 5 cm
long. The speed of the tip of this hand is

(@) 06145 cm/s
(b) 03142 cm/s
(c) 04192 cm/s
(d) 0-5233 cm/s
S4. Torsional couple required to twist a
cylinder of length [ /2, radius r and

modulus of rigidity n by one complete
turn is

4
@) 2n21]r

l
4

(b)

(0

(d)

Match List-I with List-Il and select the
correct answer from the

D el e

L!st—II
(gorrespg{;dmg
~ radius of

its

codea g]vcn i
I

o ——

B

53. el wdl #) deve a1 G 5 cm AT A
R v g F e A =@ Ah
(a) 06145 cm/s
(b) 0:3142 cm/s
(c) 04192 cm/s
(d) 0-5233 cm/s

54. 1/2 wwad, B r @ n ggan Ui At gz
F UH AeH B Th T QW T3 ¥g A=
iawrﬂaa-gmﬁ'n

(@) 2n ;qr
4
mr
(b) 2l
4
(© "2',"
n2nrt
(d) T
5. g1 7 G-Il # gafr Hifve @ F=
e Ti k) &Wﬁ%wwiﬁq ;
SR | A1 - eI
(mmmtwﬂa wHur  (HeEtE weoh
T fvg) Pra)
4 G=
A g M fem R\ 1. [2 5
e 4 2
& '
B. 7o Maw fisn R®\1 - 5 %R
Tae e @ : 2
- R Mo B A %R
TF JOHR g0F
A M RrE 25
T JAER T o
2 ’
ANTA TSR G
Lyd wadbiheid T 0
Bk R e D
1 4 2 3
(c) A B € D
4 1 2 3
BsA ' B ¢ D
4 1 3 2
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56. The frequency of a light spring when

1 kg weight is suspended on its end is
4 oscillations per second. If 4 kg weight
suspended to the same spring, the
frequency of oscillations shall be

té\ 8 per sec

(b) 4 per sec
(5y 2 per sec
(d) 16 per sec

§7. A particle of mass m executes a simple

harmonic motion of amplitude a and
frequency n. The maximum kinetic
energy is

@ mn?n?q?
(b) 4mn?n?q2
© 4mn?n?a

@ 2mn2 n2 a2

58. The differential equation for a certain

system is
2
d—; +2k o + mgx =0
dt dat

If wg>>k, the time in which the
amplitude falls to 1/e of its initial value
will be t ’

(@)

|
&
(o]
)
5
a

(b)

(©

(d)

P Flw >N
& 8 8
(@) (o] 0
o o o
=] =] =]
o o o

o rectangular SHMs are represented
by x=asin2wt+¢) and y=bsinwt. The

/18-B

resultant of of two

represents

superposition

(a) a parabola

(b) the figure of 8
(c) an ellipse

(d) a straight line

56. UF 7ok fM A 1 kg WN @eFH T IEH

Ner-arf 4 ufa Ao ) 7 B A 4 kg
VI rZwR T 3 Arerd - srgfa #nfl

(a) 8 ufa@o’

(b) 4 ufa @e
(c) 2 wfa o
(d) 16 ufat Ao

67. m THUM &1 Ush & HAIGMH a d91 3"3':?‘1 nd

e 3rrad nfy Fean ¥ Afiman nfow w2
(@) mn?n?q?
(b) 4mn?n? a2

(©) 4mn?n?a

(d) 2mn?n2q?

ss.ﬁﬂﬁa?ia%ﬁ«ﬁ e T 3

2
%Jﬂk%ﬂn&xﬂ?
e wp >>k &, @ T]® W, fomd smam
R A ¥ 1/e 9% ka1 €, B0

“a) 1o '
k

® 23
k

© 33
k

@ %3
k

59. q TEEq W Ed ad x =asinRot +¢)

|

1 y=bsinot ¥
1 aRomdt weRfa %
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60. A tuning fork of frequency 500 Hz is
vibrated with a sonometer wire and
8 beats per second are heard. The beat
frequency reduces if tension in the wire
is slightly increased. The original
frequency of the wire is

(a) 516 Hz
(b) 508 Hz
(c) SO0 Hz
(d) 492 Hz

61. The power absorbed in a driven
harmonic oscillator is maximum at the

e

(a) highest possible driven frequency

; (b) amplitude resonance
(©)

(d) frequency where the amplitude
drops to 1/e of its maximum value

velocity resonance

62. A metal wire of mass 9-8 gm is stretched
~ with a tension of 10 kg weight between
B rigid supports one meter apart. The
o y;e sses at th dlc ;ggu‘}; between

e 3 ] " ol . .

anent magnet and it
ce when carrying an
The value of f is
o\ﬂ

61.

62.

GET IT ON
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iz an % T e 0 A §FE 8

fra=
ﬁwﬁ?ﬁﬁmaﬁhmﬁmtlm

#) e amgfa 2

(a) 516 Hz

(b) 508 Hz

(c) 500 Hz

(d) 492 Hz

o woifea Aferm # S s S
el @

(a) SHfusan G woifea sl

(b) I IHFAE W

(c) M ITFIE R
(d) ER W, 5@ AW A AfUHT HH
F1 1/e T FH B &

whHaH PR @A e W F AN E
9-8 gm FANE H UIg-aR 10 kg W F
9 @ fla=n gan ¥ 9% AR W T=E F A
yal & e ar 1wl ged R AR A W
£ g A yEd g7 vEed dd R, @

 FfRd aR § AR WW A 2 sEf f @

A R

(@) 100 Hz
(b) 98 Hz

(c) 50 Hz

(d) 49 Hz

. T TR T FHR

Y=2sin(62-8t-0-314x+3.3)

A wefifd ?, W&l x 3R y F wm AAd= B 2
! 3gfa Brf

(@) 100 Hz
(b) 50 Hz
() 314 Hz
(d) 10 Hz
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64. If the earth were a homogeneous sphere
of radius R and a straight hole were
bored in it through its centre, then a
particle, dropped into the hole, will
execute an SHM with its time period

(@) T=2n \/; (b)) T 2n\/;

@ T=2r[2R Loy 7o2n 23

g g

65. In Young's biprism experiment using red
light of wavelength 6400 A, 60 fringes
are seen in a certain field of view.
Instead of this light if experiment is
repeated with blue light of wavelength
4800 A, the fringes in the same field of

view will be
(a) 90 @ 80
(c) 60 (d) 45

66. For a thin convex lens, if object is at a
istance of x; from its first focus agd

e at a distance of x, from the
if fl and I 2 are
rst and second focal

ent sources of equal intensity
light of same wavelength

(a) T=2n I\ (b) T=2ﬂ\[g

I3
(© T=2n[2R (d) T=2n\/—2—;

65. 7 ¥ f-fiow =afemor wam # 6400 A
TR & AT Y F GG GEA FHE T OF
faffra qwds 3 60 vt Rard et 21
9 & TH [ Ife TE H 4800 A dreeA
T fie yww % iy qeE W, a9 3@
gvass § ot et feard wdht?

(@ 90 (b) 80

(¢ 60 (d) 45

66. AR T AR I F9 F e 3 wum wE
q g A g x an fafa wrww | wfafa=
g xp B AW £ R o FEW: T A
v 3 fadfm wiew it @, o feafafas w6l
# ¥ HgE 8 arel wd @

@ xfi=x2f2

(b) x1 f2=x2 1

© x2-x1=f2-h

(d) x1x2=f1f2 ;

67. A UM gl I, Td WM queed A ae
m(ﬁﬁ?)aﬁa%'{ﬂmilm%m-

forg @ 6 fown # freft forg W ftaran @0fh

(@) 4I cos2(g)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON
Google Play

68. Four light waves are represented as
below :

1.  y=apsinagt
2. y=apsin(ogt+¢)
3. y=asinwyt

4. y=aszsinwt
(@ and ap are nearly equal)

The interference fringes may only be
observed due to superimposition of

a) 1and 2

(9) 1 and 3

(c) 1 and 4

(d 3 and 4 £

refractive index of diamond is 2:42.
- critical angle for total internal

tion for light passing from diamond
about 3

thickness of the
plate of calcite

h

68. = Ty il fa wew wafifa #
1. y=apsinmt
2. y=agsin(mt +0)
3. y=ajsinwyt
4. y=apsin2ut
(a) W@ ap @1 T #)

frm A A e s  safawm e e
wwd &7

(a) 132
(b) 133
¢ 13Mm4
(d) 334

188
69. Ve F AT 2-42 ¥ TS B A #
 WEw R W F e AeRE WEd ¥

(T v o SN 0B

(a) 30°

Vw&)

(b) :;.'24'4"
(© 35°
(d) 40°
70. ¥cuige F o qu Aifeam-dia wom ¥ R
FAN: po=1.658 A up=1.486 Bl W

v % Tl Sewnge % agan wgute @ we
1 A R

@ 0.70x10™* cm
(b) 0-86x10™% cm

L i -0
) 0.95x10™* cm

@ 0.15x10~3 cm
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71. Which one of the following is not
correctly matched?

(@) When the — Principal
optical system
is situated in
the same
medium

(b) The
passing
through  the
nodal points
and perpendi-
cular to the
axis

(c) The
passing
through the
principal foci
perpendicular
to the axis

(d) The number of — Four
cardinal
points of an
optical system

72. With reference to laser, which of the
t‘ollowmg statement(s) is/are correct?

points
coincide with the
nodal points

planes — Nodal planes

planes — Focal planes

‘-‘ ﬁ is used in the study of distance of
li tant objects.

i _to be constructed with
Lo .of 50 cm for

Its first radius is

GET IT ON
Google Play

71. faferftaa # & A-m vw o guferm ot 27
(a) 5@ wwfiF a3 — wum fag s

w @ mem 4 Aza fag mqod
feva ® LdGh
(b) M@ fagat A — Are@ A«
T §U,UE 4 F
eEAd el

() W9 HHFE B — BIHY a@
T §U T 1
A ael

(d) wwifers @ F — =m
FiféTa fargait 1
&1

72. TR F ol #, F=fafgs o # 3

FH-T1/A 9E B/E7
1. R wrefafren & o A
2. ¥ @R i 35w e B

3. nmﬁm%mim
SRR

4, ﬁmmﬁﬁiﬁﬁmﬁm
4 BT 2

41w T g2 1 Em = EA IR g
(a) Fad 1

(b) Fad 1 3R 2

(c) Fad 1,2, 33

d 1,2, 3,3R4

73. A=5.0x10"°cm % R 50 cm w=E g0

ﬁ@@qﬁmﬁﬁa%ﬂ%lmm
s wnf
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74. Consider the following Assertion (A) and
Reason (R) :
Assertion (A) :
When a light ray falls on a
transparent surface having incident
angle equal to polarizing angle; the
refracted and reflected rays are
perpendicular to each other.
Reason (R) :
When light incidents on polarizing
angle ii ph it ciSecgiven by
ip=tan” (4, where u is: the
refractive index of the surface.
Select the correct answer using the
codes given below.
(a A and R both true and R may
explain A properly.
(b) A and R both true but R cannot
explain A.
(c) A is true but R is false.
(d) A is false but R is true.
~ 75. A short-sighted man can clearly see the
~ objects up to a distance of 1'5 m. The
- power of the lens of spectacles necessary
~ for the remedy of\this defect, is ;
: (b) -1.50D
), ' &l) -l'blS,OD ;
'hich one of the following statements is
t true? Y|
‘Water freezes at 273 K. f :
‘melts above 0 °C. x(b
er boils at 100 K.
- normal temperature of healthy

GET IT ON
Google Play

74, Praforfaa wea (A) @ FOT (R) T FEm

R

FA (A)
s #r e -frro fef areefi @@ W, 54
armfed o1 Wﬁn%m%, wrafea
a2, A smafda sh woafa swm-FR
qreqt ervarad gl # 1

F (R)
mmgamaﬁwup)mmvﬁmm%,
GEl ip=tan_l(u), &l p Rt @@

HadT B
#13 foq Ty g2 @ wE I FAT
(a) @Al AT R @ & e R, A ) wg

TEa] F gHdl e

(b) 24t A a1 R 99 & g R, A 1 =&
Fé = gl B

(c) ATE % g R e

M) A 7Ted & g R 9 R

75. F¢ Fiegle W e Al 15 m T T H
gt wEa: 3@ TR W IR R FEF
R saws 9w & o I A 2
@ -0:67D @ [ (b) -1.50D
() +0-67D | (d) +1-50D

76. frafaRad HuAl # A -1 T T TE 27
(@) ¥ 273 K R 5w 2| '

(b) = 0°C % FN e vt B
(c) & 100 K W Iaeral |
(d) ¥ W™ F GHIA q9 37 °C Al R

77. 10 gm %, 0 °C @R dW W W& # uhafdd
Bt ¥ T wREdH cal/K # R
(@) 093 (b) 193
(c)  2:93 (d) 0-293

78. fOR I W T N9 1 2@ 50 Wi =l &
S R | S A /i, e
(a) 66% (b) 33%

o R B

b
" WA 5
Qf\ \f Y0 va

o 0
S
N
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ﬁ Which one of the following is not a

79. foa A Aa-wm vw Aagde w1 Fwmiah

Maxwell's thermodynamic relation?

N e e
aS S
(-B—V T =(ﬁ)v 3

)
(&)(55);
(G )e {50,

80. The first law of thermodynamics for an
adiabatic process is

Ja) du=-3w

(b) du=8wW

(©) du=0

(d) du=-8H+28W

81. The wavelength of the radiations for
which the energy is maximum in the

spectrum is 490 nm. The eﬁ‘ccuve
temperature of the sun is
& & 5920 K (b) 6000 K
B 5914 K o (d) 582Q.K
- 82. A piece of red g hen heafed in dark
- to red hot stat dppeartobe
W &, "‘8

erimental  verification  of
, law was done by

perates between 27 °C
t does a network of

80.

81.

- 82.

83.

84.

E )

wray Tt R7
i

(@) (g%,)s
SRR
o (57)s (3505

@ ()=,

w W yEe & ol Fwmmfeh w1 owem

fFram 2

(@) du=-6W

(b) du=8W

(c) du=0

(d) du=-3H+28W

fafror =1 qoeed, g foR aviFEs & ==
HfYwan 8, 490 nm B g %1 wwreh a9 2

(a) 6920 K
(c) 5914 K

(b) 6000 K

~(d) 5820 K

o I 1 % g A AR aw
feufa o md o s @, @ aw

(b) e s wem
(c) den Rt g3m
(d) 3w dm

s v |

18y

frate & fm 1w geam e

(a) ¥ T
(b) i gRI

frzsh gma
(d) 9Fgm

TF FH §9F 27 °C a1 327 °C ¥ q FH
m%mﬁﬂwsoowmmﬁ a@
m%mﬂmm gk

(a) 8800
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I
/ "85, Jrhe Clausius-Clapeyron equation is 86. Fenfirm-Faft gl
\ o . A (@) L
dT T(V5 - W) ar T(vy- W)
o WAL N BE oot
NP T ow ®) v, - v
o P A ap L?
B e e (0) o it
ar T(Vh-W) dr TV, - V)
dP
@) So=LT(Vy~W) @ -1z
86. Two cells each of e.m.f. E and internal 86. 3 ¥ frd wAF w1 fio a0 @@ E AW
resistance r are connected in parallel et wfadw r 3, sfdu® R % wE #
across a resistor R. The power delivered § w3 S 3| i &1 9 e wifer FAfuan
to the resistor is maximum, if N R
1. R=r/2 o e
R R=y Y W ;
B T 2. “Rer

- Select the correct answer using the |
 codes given below. g;?“ R e e T W g

* (&)wt .w,;z.w{ ;:gg) 1
’(b) b

1d 23 —

“'(d)‘!,ﬂﬁ 1@!&1#@ {
87, dem R & 2uF ¥ T WG B 40 F

m%mmwtp

2Q
——MWA——

(5% <3 h
A —

i e A 5

2 uF 4Q

J,F —~MAA
2.8Q

2 Q Witkius § um1 %1 qH R
(a) 9 YfE

(b) 09 Y

(¢ 3w

15 ¥
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88. A step-up transformer works on 220 V 88. UF Il ZAHIR 220 V T FH ol B

and gives 2 amp to an external circuit. 7R ared aftew § 2 e um wanfea w2
The turn ratio between primary and wufes aw fado® goselt ¥ an-w @ |
secondary is 2:25. Assuming 100% U 2 : 25 ®1 100% zaa i feufa # Fria !
efficiency, the output voltage will be fava m.
(a) 275 volt
(b) 440 volt (&) Ve
(©) 2750 volt .. (b} 4403
(d) 5500 volt () 2750 Az
89. Three equal resistances each of value R (d) 5500 Kz

are connected so as to form a triangle. o A :
The equivalent resistance across any 89. 1 Bl ﬁ&'ﬂ 2 g@ﬂﬁi i

two corners of triangle is ﬁﬂ%%lﬁ{ﬁ%?ﬁfaﬁﬁ%iﬁagﬂ
(a) 3R sfedg & !
3R
(b) %R ' (@) .
3 ) (b)r, 5 R
%) —lR :
3 Gl \
2 (o 3R
258 “‘QER 3 :
90. Match List-I with List-II and select the 3

~correct answer frog the codes given o . ” :
= I B dow" . 55 F _ % 90. HHI-1 qu1 FeA-II iﬁt g R T
. AR =Y _ ﬂqm{?ﬁ'ﬂﬂ;ﬁ(gﬁq
e’ S sceptibility) { Y | e | qfen
b7 (g ) ()

2. x=-ve A. m 1. x=-1

. 3 and small B. sgg=d 2. y =Y RUHF
. X=+ve

~ and small C. m-gﬁm 3. X = Y YATHS
4. y=+ve D. sy g 4. x =49 g

%
(a)
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R iR DA — ; 3 }

( CHEMISTRY / TaTaA-famm )
91. Which one of the following is not | 91. swiferfaa i & fret gier #t 87

correctly matched?
Al (a) onféfyrm wftwon ¢ sffEm-at W
(a) Arrhenius equation 3 geﬂ:ﬁtu ;)ef t:‘l’:; | am %1 9vTE
rate of reac- (b) ar2 wH A s sfubE #
tion fafy #if2
van't Hoffs differential : Order of b o R0 698 % : wm-Ffz A
; c) hip
method reaction (c) R FfafEm
1 ; : First-order £
(ch1,,, =0-693x— . -Fif2
R R reaction d ty2= Mﬁ o gﬁ?ﬁl
(i B i bl v 110 Zero-order yefesrEh wiEal
T ey :
initial concen- R reaction
tration of
reactant
92, swifefiaa Furl T faram Ff
92. Consider the following statements : "‘ " Afar F1 A a@H A g afFm
; ot F9 @ o B

 sgnls] When temperature of the rgaction is |
g o) mcmed activation ° go o sfufEm @@ AA 3, F&@ IGEN FW
e ST o et A we, 2wt 3 @ P

. Reaction occurs whﬁ‘ gctmg ..*Q A2
‘ cules have lesser energy than : ﬁﬁﬂmﬂﬁ’hl
h r. energy. - ﬁﬁnm:@zﬁm
i é # | e 20

*2 a’ﬁt q&r%

..... !
_F

c) Faa28dR
@ Fd1dTIR28AR

s 53 93. ytifeiflad # A forg waw ¥ i faeem #
ing salts solution pH F1 A Haifee g 87

. ‘val,ti;le of pH?
(a) NaCl

(b) KNOgj
(c) NaCO3

@ znCly
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94. Ky, Ky, Cand « are the ionic products
of water, dissociation constant of acid,
concentration of the salt of weak acid
and strong base and degree of
hydrolysis of salt respectively. The
correct relationship between these is

(@ a=KY2.x;V2.c-V2
(b) =Ky Ky -C
(© a=KGV2.x7V2.c-V2

@ a=kK}2.xY2.c/2

95. At 80 °C, pure distilled water has [H30%)

concentration 1x10°® mole/L. What is
the value of K, at this temperature?

@ 1x10®
(b) 1x10°8
(© 1x10712
d 1x107'%

96. Which one of the following is not a
buffer solution?

(@) Mixture of

4 Fow
LA

of aqueous solution of
 citrate and  sodium

GET IT ON
Google Play

94. Ky, Ky, C 3N o #9m: 5a1 #1 sl
TR, 0 F1 i frs, gda e
U WA 1A T a6 gigan i Tmm
Sl -3z ) W2 ¥ g% A w1 udh g
?

(@) a=KY2.Kk;V2.c7V2
(b) a=Ky -Kq:C

(©) a=K V2.x;1/2.cV2
d a=K¥2.x12.cV/2

95. 80 °C W Y& 1gA 5 # [H50*] F Fizw
~ 1x107® mole/L 1 T AW W K,, F A
w1 8me? : '

(@ 1x107®
(b) 1x107°8
(©) 1x107!2
(d) 1x10714
96. aﬁ%&aﬁ%m-maﬁﬁ%wﬂﬂ%?

(a) WP st sl Afeam T ¥ e
faerm =1 faym

(b) fEm  EEghEgs s sty
FANES & A9 fergm #1 Mo

(c) wifeam Rz i @ifeam wmeiemme *
el e 1 fso
(d) wifean TrEgiaamss it TRgEeiE s
* Sl e %1 s
97. Pbly #1 fackrm s ®| facka prwa, K,
FfR e Fow e

(8) Kgp=S3
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98. Which one of the following will change

the value of equilibrium constant?
j | (a) Addition of reactant
i ] : (b) Change of temperature
(c) Addition of a catalyst

(d) Addition of product

i 99. In a reversible reaction, which one of the
following equilibrium constants, &k
suggests the fastest complenon of the

reaction?

wilf
(a) k=1 a 7 f
N 2 1n2 L4 ,3}

~_reaction when
> expressed in terms of
and‘ mole litre !

SN

e
m@:’ k=1072 & i

GET IT ON
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o, sifuftra # @ Aa-a @ fw & A F

e am?

(a) RS-
(b) amqEr-afEd
Feirr-a

(©

(d) IAE-3N

o o e 3, Fre e fer,
2 S e s ) g ol A 27

(@) k=1

(b) k=102
e) Bk=10 | |
(::2, o .

— ]

# 1
|

100. 5/ WZar 3ifeh e 3R 9| e ! F w

q wefifa &, @ Iepwfm sfufem 5 o=
o #mw: K, o Kk, ¥ B § 3 e
Hﬁ&m%%ﬁx =K, ihm?

(@) PCls(g)=PCl3(g)+Cl; (g)
(b) N2 (g)+3H; [g) =2NHj; (g)
(€} COCl3 g =Co)+cl, [

(d) Hp ®)+12 (g) = 2HI (g)
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101. Bomlﬁoq of ammonia is represented 1,y
the following reaction 3

N2 ®+3H; (g) =2NHj (®) +22. 0 keal

Which one of the following conditions is

most favourable for the formation of
ammonia?

(@) Increase of temperature

(b) Increase of temperature and
decrease of pressure

(c) Decrease of temperature and
increase of pressure

(d) Decrease of pressure

one of the following is not
y matched?
[57]

TE N g
g is correct?
I 5V

int %w'% pro(perty.

[Tooberd

\\

101, sy &1 Fmfor from sififen g wafifa
e R

N2 @1 3H; (g) = 2NH; (g) + 22 O keal

P T 3 @ e s freton
form waifirs s B7

(a) A9 1 =@
(b) @4 1w 3R FTE F T

~(¢) A FH g 3R T@ F A
SR

0 gD,

- (d) = F

102. i1 # ¥ firerd g 7 27
(@) Cp : [iﬂ]
oT |p
(b) AH BB Mg
(© cp=cy i 3_”]
. : LoT Jy
(d) Cy-dr T RIET

103. svifeifiaa & | A-w v 37
(a) Tof oM TF @A o R

(b) @Wm%mm‘i‘ﬁ
TS HHF B B
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104. A heat engine is operating betweer,
temperatures 500 K and 400 K. What g
the efficiency of the engine?

!. (a) 020
E’ § : 6)’ 0-80
e (© 125

(d) 050

i

105. Consider the following reaction at
temperature T :

802&)+5102(g)—) SO;3 (@)

What is correct relationship between

change in enthalpy, AH and change in
internal energy, AE for this reaction?

[R is gas constant]

GET IT ON
Google Play

104. TH Fun T4 500 K 3 400 K ardl & ma
wrf e B g ) anen 0 Y

(a) 020
(b)
(c)

(d)

0-80
1:25

0-50

105. 7 am qt fae sififrn w famm fifsm
SOg(g)+§102(8)—>503(8)

W it & fed f Fon & ofad, an
am At S A qRadd, AE F w9

e~

Fray 1 87
(R g feri 2]

(a) AH=AE-RT
-
(b) AH=AE+RT

gk .
© AH='AE+-21-RT
AN

¢ 1

@ AH=AE-lRT

106. fied-Ferdlces oo & fod svuifafaa

Fordt W feram Hifvr

1. 9% U Hgd 73 & ford Wgw & 2|
2. TE Y% 91 8 gRads au T § weey

Tl 8|

- R Ry e gz A wEr @ w@ Iw g

30

(8) 19 R Tg 2 Ted @
(b) 17 R WG 2 WA R
(¢) 1 3R 23 wh &

id')r'iiihmzﬁimt
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£ A . |
- compo;x: ‘:ir“ t{:: ,?““’“‘3 Species/ | 107. CHCI4® Yemieieh KOH % ma mo' w3 o
B aic.k0 Tmed on heating anifefaa & 4 #-m efefta /N #5m?
(a) HCOOH (a) HCoOH
(b) :CCly e
-
s © Hecl
2
(d) CcCijy ( :
(d) CCljy

108. In which one of the

following
compounds, the C—Cl bond dis

energy will be the least? o 108 mjﬁ;a?a m‘tﬁ:;smﬁ mc?—-CI el
cl Ty
(a) @/ | Y @/m
CH | (b) CH:>C_CI i
e)  ch,— CH—CH,Cl 5

() CHy= CH—CH,CI

(d) CH,=CH—CI

100; B 3 3 Pr-m waifir o e 37

CH,4

(a) ol

NO,
OH
b
H NO,
NO,
o O
NG,
Cl
d
NO,

31 [ P.T.O.
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e

»gé'onaider the following statements about | 110, IR WY F g wu W AR
 resonance : o

1. Resonating structures dlffcr only in

L 3w gaFzE #
arrangement of electrons. e firg maﬂt'ﬂ b
2. Allatoms participating in resonance o
lie in the same plane. ck ﬁgt'ﬂﬂmﬁiaﬁwﬂ 1
3. Resonance hybrid is less stable ) ; A
than the contributing structures. 3 '@?ﬂalﬁl !: R, AT G R

Select the correct answer from the codes

~ given below. A2 faw 0 gz ) werr @ wh I A
(8 Only 1 and 3 are correct (a) ¥ad 1 i 3 wé &

S8 Only 2 and 3 are correct (b) et 2 i 3 A &
Onlyland2arecorrect (c) Fae 1 32 gé &
d 1,23 3ahHE

111. arfufsran

19 2and3arecorrect

one of the followmg com

pouggp

Bl‘z / Nal
CHy—CH=CH;— -5

4 = & @ FF-w1 D Tt =m?

"~ (a) CH3—?H—?H2

Br. = Br

(b) CH;,—?H—THQ 3

'-.-:,' { Bg"

LF “ﬁrf""f"’ fs

Br i i
e CHj x e
—iﬂ_gr

112, frm ﬁ | aﬁa-m i sy 1 afifen §
Toramefiar gm?

“Q.
o Q/“’
() Q\

Jog
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113, Consider the following statements abous | 113, sy 2 sfufwnait % R seifafaa Fodt =
SN2 reactions : R ﬁﬁ :

1. They are bimolecular reactions. 1. A Ronfos srfifen 8
2. They proceed with complete

forma =1 of wferetr g R
inversion of configuration, 2. v w §
' [
3. They involve the formation of an 3.V T A
intermediate. 4. v gaﬁzrm 1t A B
4. No rearrangement is involved in # faw My e A gEEA @ G IN gl
them.
Select the correct answer from the codes (@) Faa 1, 2 3w 3 9h &
given below.

(b) ael 2, 3 3l 4 wé #

(@) Only 1, 2 and 3 are correct (c) W1,3W4wg
(b) Only 2, 3 and 4 are correct " Bt g

#€) Only 1, 3 and 4 are correct : |

‘ 1
(d) Only 1, 2 and 4 are correct 114, fafwn
2 COOCoHs  y
‘The correct name of the reaction CgHsCHO + CH2< >
: COOC2H5
COOC,H;

Base : COOC,Hs
CgHsCH=C <
COOC;Hs
s <C99?2“5 _ wEhAmE i
g R (a) AP iR
venag reaction (b) fafen srfarfean . .
_ ,‘H‘-reaction (c) UosTd HeAA
ol condensation (d) Fhsm srfufran
R0t 115. = 3§ | F9-71 @R, >C=0 ¥ ¥ Y ;
of the following ylides will be mﬁ:mﬁ'ét A afufra § we@ #0 framia 7
‘reactive for nucleophilic e :
=0 group?

@, ©
(@) PhzP—CHy

® ©
(b) Ph3 P—CH—CHj3
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© i
116. CN is a specific catalyst for benzoin

condensation, because

1. it is a nucleophile

2. its  electron-withdrawing ability
facilitates  loss  of aldehydic
hydrogen

3. it is a good leaving group

4. it is a strong base

Select the correct answer from the codes
given below.

(@ 1, 2, 3 and 4 are true

(b)

Only 1, 2 and 3 are true
Only 1, 3 and 4 are true

Only 2, 3 and 4 are true

undergo  Aldol

> |

©
116, ¥ @ F f@ CN 3 T i,

117.

INH B, Fiifr
1. 78 uw A ?
3 %%mﬁaﬂ"ﬂﬁ?

3. 78 UF egl A G 2

4. IR UH YA 4T R

13 e gz 1w A @ I L
@ 1,2, 33 4ahE
(b) ¥a@ 1, 2 R 3@ E
() ¥a@ 1, 33 4w &

(d) ¥ad 2, 3 3l 4w ¥

YITIRgd $eF (A) 991 $R9 (R) R fan

i
FYH (A) :

it Ueeerss Yeefer womm 3 &)
FR (R) :
Afeseresl ¥ o-wrgm swet a3
ﬁﬁqmqycﬁmﬁaﬁmgﬁm

(@) W A @ R
THF R )

(b) i A o R wA 3 A 1 W
TR R T 3 s

T O? AR A w owd

() AW%WRWE
@ ATem v R w3
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118. Which one of the fo)1ow;
does mot result in carlg,
formation?

Ng reactions
1-carbon bond

() Friedel-Crafts reaction
(b) Perkin reaction
(c) Diels-Alder reaction

(d) Hydroboration reaction

119. Glucose and fructose form

identical
Osazones, because

(@) they have Same molecular formula

(b) they have identical

configuration
about Cj,

C4 and Cg atoms

(c) both of them are monosaccharides

(d) aldehydes and ketones react with
- phenylhydrazine in similar manner

Which one of the following reactions of
glucose is not matched correctly?

: Product
Gluconic acid

Glucuronic acid
Sorbitol

n-hexane

118, sfflra o @ frm sfufpn o wdq-Fea
sty Tt wan 7

(a) SPET-Frwzm srffrm
(b) uffa srfifrn

(c) Eem-tez srfufrm
(d)  FRgin s

119. TR a1 W TdEn e @ %,
i

(a) T A T R
() % Cj3, C4 70 C5 T

g wewm @
(c) @M & WS ¥
d) eeere A Few, FeEEdAA F @
( A ®9 A ffEn w9 3
120. W A wfifan sfvfenst § 3 fead
g R
st I
(a) SR v THH 3
(b) R v TR ST
(c) Wfezm dNerggRe  :  wilderw
(d) ¥F% HI @91 @@ : n-¥eA
FERRE

121. 30 9o ) TeEH Hifvre, R g ave
RAER:

o
I I
_NH-{-C—CHz—CHg—C—NH

—(CH2)4—NH-};%ID—
(a) AEAM 44
(b) AN 4
(c) RN 6
d) HEA

35

2 [Ty —
Y SR LR S S,

AT S L

A AT

=

g SRR
FAT O T ST I TR AT S LT (RN R FFFY e RSO s 00
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List-Il and select the | 122, =11 @
%@p @e codes given m&wﬁhﬂ mmiﬁw ¥

- ef-1 11
Lo (wrgereR) (vareTe)
' A. wipfes @t 1, COOCH;
. o Ao
T OOCH;
B. 3@ 2. CFp=CF;

CHj
C. et 3, CH,—(]‘/—CH-CH'z

4. CHy=CH—C=N
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(a)

A by

(c)
(d)

”cn,—é—u CH3;—C—NH,

1124, Consider the following statements for
8eometrical isomerism -

All geometrical isomers have a
double bond.

All  geometrical
stereoisomers.

All  geometrical isomers  have
restricted rotation about a bond.

isomers  are

No two substituents on any of the
atoms  about which there is

restricted rotation, should be the
same.

these, the correct
only 1, 2 angd 3
only 1, 2 and 4
only 2, 3 and 4
only 1, 3 and 4

statements are

zl.ﬂ;. Arrange the following compounds in
~order of their decreasing carbon-
double bond stretching frequenc

oxygen
Ve

o (0]
- I ! i
cng—(!,—ocu_, CH; 1

(1) ' ()

(4)

e following does not
Of WV nax. in IR

3 #03-0

GET IT ON
Google Play

124, sy wwrETEt ¥ Rl sndfefan et @
faram Af

1. wh safida woaEt § E Remed
LR

0. wi) wifida WA sl fif
wraTa w2 R

3. wf surfidia garamal 4 Prdt 7 A
vt ol wfeafem @ B

4. v qof @ smaea @ 33 0
o g off A wfeeardt g T 2R
=1fed |

T @ it Fo §

(a) Fa@ 1, 2 3l 3
(b) ¥aa 1, 2 3t 4
(c) ¥a@ 2, 334
(d) Fad 1, 3 34

125. = el A 7% FE- TRl Famey
6 AR F T2 g e § Faftd it

| |
CH3—(|2—-OCH3 CH3—C—Cl
(1) 2)

fe) (0]
cns—g—u CHa—g—Nﬂz
(3) )

H2:

(a) 1>2>3>4
(b) 2>1>3>4
() 3>1>2>4
(d) 2>1>4>3

126. IR ®FgA &, siifefas §  a9-m Blax
TIH 1 wIfaa T e 27

(a) TEESE Y

(b) WPF ik AR
(c) Wi g

(d) SR w9

37

[ P.T.O.

REE— W

s 0
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.

. mmm of the following compounds | 127, = # ¥ 273 nm W e AfrF &1 A oy
: will have Apax at 273 nm? am?

‘; mrﬂ?.) ; (@)
"y @:; (b)
o m ©

(@) | I j (d)

-128. Which one of the following electronic o
transitions requires the least energy? 128. f= A A form waRte @0 a4

888

Tl w87
@ o—c* 2 .
% . (@) oc—o
() non*
“d) non®
129. 2 3 ¥l F Eo 7H AR Rum § .

Fe2* /Fe, E°=-0.44V
Fe3* /Fe, E°=-0.036V

~ cell, Ru m 9, Fedt +e-—)Fe2+, * E° AR

am
' @er | (a) 0476 V

(b) 0404 V

(0 -0:404V

0:772 V
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n g R
R 2 e
Ao A e

;
(‘3
.
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130. Standard reduction potentials of four
elements A, B, C and D are respectively
-2.90, +1.:50, -0.74 and +0-34 volts.
Which one of these is the strongest
reducing agent?

@ A
(b) B
1) 6
@ D

131. Which one of the following cations has | 131-

the maximum hydration number?
@ c3
(b) k*
() Rb*
@ Lt

132. Among the following, which one has the | 132.

maximum lattice energy?
. (a) BaFy

133.

134.

130. W) @wl, A, B, C 3 D, ¥ AAH ATAHA

fag FAm: -2.90, +1.50, -0-74 3
+0-34 drez §| 3 A wAlfUF gaA FATAEE
2 y

(a)
(b)
(©)
d D

aufeafga At § @ fredh sogem 9@
waifis 27

(a) c;

a w >

(b) K*

(c) Rb*
(d) Lit

uiferiaa # | forueh er Sl gatiues 27
(a) BaF;

(b) BaCl,

(c) BaBrjp

(d) Balg

yufaflaa & ¥ fFg v @ s
Tfeefierar waffus &7

(@) Ba?*
(b) ca?t
() sr2t

(d) Be?*

Fuiffen sfeemel 4 ¥ W-w waivs
g 27

(@) Sby03

(b) BigO3

() SeOy

(d) Aly03

[ P.T.O.

B e

ot
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table?

electrons in XeOF4 is
@ zro

(b) one

(c) two

(d) three

.In which one of the

.gqual?

one of the following anions is

eompounds, all the bonds are not

GET IT ON
Google Play

135, svifafas # A Frmm el HoER BE-w
LI

(a) Be

(b) Li
¢ B

@ C
136. XeOF, & T qm ToagHl 1 @ HE &
(@) I3
(b) TH
(€ @
(@ =

137, sifRaa A § @ e @i e T

wE &7

(a) BF3
(b) AlF3
(c) NF3
(d) CIF3

3133 mmmﬁ%ﬁﬁ#m

HfaFa AEFEH 87
—
©
2. PFg
. ]
3. SiFg
4. XeFg
9 fg M e Fi wEw A wd W IR
@ 2,334
(b) 1,334

(c) 233
Gl &% (ol 1 23“{3
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‘140,

B 14

i,

3

Consider the foll
Reason (R) :
Assertion (A) .
Azimutha] quantum
Suggests about
orbital,
Reason (R) .
It gives in
distribution
the nucleus.

owing Assertion (A) and

number
the shape of the

formation about spatial
of electron cloud about

Select the correct an

. swer from the codes
given below.

(& Both A and R are trye and R is the
correct explanation of A.

(b) Both A and R are true but R is not
the correct explanation of A.

(©) A is true but R is false.

(d) A is false but R is true.

For the spectrum of H-atom, which of
the following statements is/are correct?

1. When electron returns to the

ground state from higher energy
levels, Lyman series is obtained.

2. The wavelengths of spectral lines of
Lyman series are in ultra-violet
region.

‘Select the correct answer from the codes
given below.

(&) Both 1 and 2

Neither 1 nor 2

' - Only 1

Only 2

g’s uncertainty principle can

‘. 6y

41

140.

141.

142.

GET IT ON
Google Play

wifeftan o (A) 7o FwO (R) T A
A
HIH (A)

fareft wren wem, wew % aEw F an #
w3 R

HR (R) :

g A R aee % s fam
& A & gan A R

R w2 ) wem A wh 3w g

(@ ¥ A am R wh & M A W
T R

(b) @ A @ R ¥ & weg A F @A
TEE R TE R

() A®# R g R Ted B

(d) A TTEE R 9 R wE R
H-Y0] &% Wagm & o, sifafas w9t 3
[ FH-/A 9 B/R?

1. =@ I WA A 76 §ORA 0@ TR R
<irem &, 7@ T Avf W A 2

2. R A & Sl e W aed
T & § R R

T R e Fe i wEE A wd W IR

(@) 1 q= 2 3t

(b) M 1MRAA2

() Fad 1

(d) a2

TR % fifRE frgr B oweliis w0

e g R

h
(@ Ay xXAp 2;

hn
(b) AP—K

h
() Ay XAp S

h
@ Axxap>-

[ P.T.O.
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- 143. Which one of the following ions contains
2 the maximum number of unpaired
electrons?

. Considering H,0 as a weak field ligand,
the number of unpaired electrons in

~ MnH20)6]** will be

1f‘8. If Ag<p, then the electronic :
oonﬁgumhon of d* species will be

. : blpyram1dal

- a® S
27 (b) 2
’:A (C) 4

b

GET IT ON
Google Play

143, anifffiaa st § @ fralt smfita o
ﬁmu&mmv

(a) mg?*
(b) Ti3*
(&)
(d)
144. H,0 ® & fda afm fs 7 @

an(H20)612+ % sgfa wagHl A wEm
o
(a)
(b)
(c)
@ 3

145. 7R Ag<p 2, @ a* wvfie F @RS
famma gm

(@ t3e%

Fe 2+

5
2
4

(b) e4gt°2g
(o) t32g€lg

3 YR
(d)r giz

[

146. Tl Rt T T A 3, sifafaa
- # } -7 g ke B 27

()
(b)
(©)
(d)

147. 5@ 9, U?38 fyafiXq @ 2, 79 sr-3ar

t“ﬂmiﬂm-mmi[a
o1 #7

sp 342
sp 34

sp 343
d 2sp3

o
CAS N
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148. What is the half-life of 6C!%, if its | 148. AR (C'* @ fawza friF (), 2:31x10

disintegration constant () is 2.31x 10~% a1}, @ g ad-amg w0 @fi7
=1
Yyears™ '?

(@) 0-3x10% =d
@ 0-3x10* years

(b) 0-3x10° ad
(b) 0-3x106 years

B g g

3
c) 3.0x103 7
M 3.0x103 years i
3
) 0-3x103 years g
149. With reference to catalysis, which of the | 149. 3% & #=a d, s i ¥
following statements is/are correct? FE-H/A T R/E7
1. Catalyst lowers the energy of 1. 3, Afufen 6 afFn =1 59 =
activation of the reaction. 2 B
2. The overall change in energy of iyl g gftad
reaction is unaffected. - .- b
Select th t from the cod: i iy
€ correct answer from the codes
given below. ﬁﬁqueﬁammﬁmﬁmgﬁm
(@) Only 2 (a) Fa 2
: (b) Only 1 o o (b) e 1
B
&
K ; ) Both y % () 13 2 2
g d) Neither 1 nor 2
: i L nor d F@1MmaA2
150. The rate law for a reaction is given
_ below : 150. & A F o <t frm 49 e mn 2
S BOdn % t ot r S t
rate =k CrA CSB Cc W=k C4 Cp Cc
Ca, Cp and Cc are molar e Ca, Cp T Co T sfveieia, B
B ot ractants A, Band C I C # Wer Wiz §1 BF v F st
. What is the order with N Ffe 7= ¥7
1R :
' (@) r
KNS
Q (b) t
G
(c) r+t
X+
. d s
[
43 [ P.T.O.
Q s
2
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